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4a.

(10 Marks)

(10 Marks)
b. Two blocks weighjng SkN x 2.5kN are connected up by a string over a frictionless pulley as

shown in Fig Q4@&mina the minimum value of force 'T' to generate an impending motion
to ttre right. Iffi@efficient'of friction for the surface of contact for block 'A' x 'B' are
0.2 x 0.3 respedtifbly.
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a. Distinguishbetweencentroidandpeffifgruvity'. - **& (O4Marks)

b. Determinethecentroidofatriaffiffimnrstprinc.iples. ##. (06Marks)

;. rioa Ur" ."rrt oi-i'oi,i;;r{,ffiffiie"site area wifh respe&'d the given axis as shown in

Fig Q5(c). -.- * u** * #

#h#^ - ff"*".;
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6 a. stateandproveparallelaxiql.fte6rem. **m"Y ,{K*&" (o9Marks)

b. Derermine;;;;of,j;@ of the area about"&r.e'"liorizontal centtB'jddl axis as shown in

Fig e6 C). Ail;;J'@kor gyration abo#kF$ame axis. |tt $inrdnsions 
in Fie'Q6(b)
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Find the forces in all the members of the truss shofi!*jff Fig Q8(a). lndicate the forces on the

-L1-- s -E:^:-a^ *ffi* @*j
truss with their nature. Use method ofjoints. d-% ffi"

&KN*, **ffi +KN -#-o}r#-L*e ,#
,!'

8a,

b.

^ 
ri*-' "Ytui.i.iii 

Fig e8(a)';, ' (10 Marks)

Find the forces i"$tqs"-uers of cD, KD,I{of'she truss shown in Fig Q8(b)'use method

of sections. {% * 
u 
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9 a. Define the fo[o*ing : *%','$ \.
i\ Kidemitics ii) Kineticsc'ftLi!il.Motion iv)Acffiation v)Path (05Marks)i) Kinemitics ii) Kine

b. What i6**Wer elevation and

4r',

l"
:Sft=:ifu;,

.ar"" '*S" ".* .'q".q 'try "r

,= ' rig Q8(ffi #, 
* (10 Marks)

its necessity? *r:; (05 Marks)b. wnat"ls'sqPer st

c. Car'A,tftceleration uni rest on a stqpigf;t level road, Car'B' starting from the

, initial %f"htu- accelerates at 6mls'. It overtakes theffi#6fi';;;jjr]*qffi,h zero initiakkkrtif, accelerates at 6mls'.It overtakes the

=_ffi;W;+oo* 
a"*r,frm &#rtingpoint. rvdffitt" acceleration ofthe car'A'? (10Marks)ru*pp&ot 6 seconds bqr;%'fth zero in!!i

,,;r,fllFr:i'$S\ ,. ;-.r" ' 'tPi{ ',1

tr 1). 1};. "S:., " ut**]*" .u . 
@R

l0 a. What is a Projpptile?befine the foffi{pg terms bri-lflyru e' 
;ffi;;p,ffi,ffii;* ii) Horizffiiu"g" iii) vertical height iv) rime of flight

(10 Marks)

b. A cricket bulHhro* from,p nagnt of 1.8m 
.abgve 

ground level at 9. angle of 30o with the

horizontal ;irh';;;ir;i:*-fo-zits is caught uy a fietder at a height of 0'6m above the

ground. petermine the ffi#; between the two players. (10 Marks)
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